Al sham University
Faculty of Informatic

11/11/2020

ZQAQ J.@S.“ Z\.uﬁ.@.“ U""*"“
A Adud) dUal
2020-2021

Dr. Ghada Aldahim
ghadadhem@gmail.com

Ghada Aldhem

daldl) alid) daaly
dila glaall dwaigl) 48


mailto:ghadadhem@gmail.com

References

1.Charles K. Alexander, Matthew N. O. Sadiku, “Fundamentals
of Electric Circuits”, 2nd Ed, McGraw Hill, 2009.
ISBN 978—-0-07-352955-4

November 11, 2020 Ghada Aldhem



Chapter 6
Circuit Theorems
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Practice Problem 6.8

Using Thevenin’s theorem. find the equivalent circuit to the left of the
termunals in the circut of Fig. 4.30. Then find I

Answer: oy, = 9V, R, = 3L T = 225 A,
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To find I, we short-circuit termuinals a and b, as shown 1in Fig. 4.40(b).

We 1gnore the 5-{} resistor because 1t has been short-circuited.
Applying mesh analysis. we obtain
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Practice Problem 6.11

Find the Norton equivalent circuit for the circuit in Fig. 4.42. at
termunals a-b.

Answer: Ry, = 3 ). I,y = 4.5 A,
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